
Unit 09 Problem Set 4 #1a,2b,3-8 ​ KEY 
 

1a  

1a) [NOCl] = 0.969 M 

      [NO] = 0.031 M 

      [Cl2] = 0.0155M 

 
 

2b  

2b) [H2O] = 0.22 M 

      [Cl2O] = 0.22 M 

      [HOCl] = 0.060 M 

  
 

3  

KP = 4.8 

 
 

4  
a) PPCl5 = 1.158 atm 
 
b) PPCl5 = 0.098 atm 
 
c) P = 2.218 atm 
 
d) 91.5% 

 
 

5  
 [H2] = 0.025 M 

 [F2] = 0.025 M 

 [HF] = 0.45 M 
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6  
P = 0.270 atm 

 
7  

[CO] = 0.001 
 
[Cl2] = 0.301 
 
[COCl2] = 0.399 
 
(Because K is so high, reaction essentially goes to 
completion, i.e. x → 0.4) 
 

Phosgene, COCl2, is prepared from CO and Cl2 according to the 
following equation: CO + Cl2---> COCl2.  
Kc at 395 °C is 1.23 x 103. If 2.00 mol of CO and 3.50 mol of Cl2 
are added to a 5.00 liter reaction vessel at 395 °C, what would the 
equilibrium concentrations be for all species? 

8  
x = PCO2 = 1.16 atm 
 
nCO2 = nCaCO3 = 0.1317 mol CaCO3 reacted 
 
13.17 g CaCO3 reacted 
 
66% 
 

 

 

 

 

 


